=5 4Y/HIE o[0ix|

49
THE:
AR EE AHQIEIA AR

EH 0p2a);
AE, ofd £
AH|QIEIA AT, BRI
EotAE OB, LR

HH.
K1240.022000, K1240.033200 2! K1240.045000 AL H =&l EH

Mg S=ELch

AMIAMZ]:
K0688
K0689
K0690
K0101
K1442
K0102
K0103
K1443
K0104
K0106
K1441

kn
g

!,
k240010500 T/
Kot ios0

Jo

20t

oM

=1

a
7

4
il7]

s SUY AR

i
ml

Ho|
rE

=
FEHS EA 29| =" = E EEEE SHEH

W24

Zz Jon

F3
N

F4
N

K1240.010500 s
K1240.022000 e
K1240.033200 s

© HEINRICH KIPP WERK GmbH & Co. KG

75°
73°
65°

250
1000
2000

500
2000
3200

150
600
800

350
1200
1600

www.kipp.com - info@kipp.com 1/2



(
U SUT LY, ST U B I ARE
ES 29
FEHS 24 x4 & =2 ol 7T a9l =g P S99 E e EE ]
Zz M ZE FH F1 F2 F3 F4
N N N N N

K1240.045000 AE] 90° 68° 250 2200 5000 1100 3000
K1240.110500 AHQIBA AR 90° 75° 50 250 500 150 350
K1240.122000 AE|QIYA AE 85° 73° 100 1000 2000 600 1200
K1240.133200 AHQIE A AR 90° 65° 150 2000 3200 800 1600
K1240.145000 AHQIBA AR 90° 68° 250 2200 5000 1100 3000

FEHS =R RS A AT A3 B Bl B2 B3B5 C CI D H L L1 L2 M
K1240.010500 AE! 159 23,8 11,1 159 238 8 5 15 77 68 44 173 79 20,7 13,5 M4x20
K1240.022000 AEl 27 37 254 22 36 114 74 2 251 12,7 55 37,8 143,5 56,9 357 M6x44
K1240.033200 AE] 254 38 20,8 222 35 14,7 87 3 349 12,7 6,7 476 173 71,6 39,1 M8x63
K1240.045000 AE 41,3 571 - 413 572 19 11 4 444 19 8,3 63,4 2956 108,3 63,6 M10x85
K1240.110500 AE|QlIHA AE 159 238 11,1 159 23,8 8 515 77 69 44 173 79 20,7 13,5 M4x20
K1240.122000 AE|QIYA AE 27 37 254 22 36 114 74 2 251 12,7 55 37,8 1435 56,9 357 M6x40
K1240.133200 AHQIEA AR 254 38 20,8 22,2 35 14,7 87 3 349 12,7 6,7 476 173 71,6 39,1 M8x60
K1240.145000 AE|QIEA AEl 413 571 - 413 57,2 19 11 4 444 19 83 634 2956 1083 63,6 M10x80

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/2



